Homewor'c 15

7) £60= [x«3 Ca-22
O SO ICO RN eTE o
C(r)” w«6=§/ﬁ>¢5 — . o

- 3 7@\%”2' ‘
%‘(¥> Z\C 3%5'2— X*%;qu
§'QL)’ At Oy © =2\
L e’
i ( L(u,‘l)cg*,{, (Zl-ol'22>
. 2%
_ A - G« l“é(‘Ol)
0 - 54 = 0.0l
LX) =5 ¥ ‘%CX'ZQ  4.99
(750l = {xt3
2601 = Xx3
X = 22.0\
' -
L,(w.O\)chrfo(LZ-Oi 22)
< 5&;%((}00
- 0K D.DO|

- 5.00|



q 0.2 X
)e f&)ze @ a=0
L) = §la) x A (x-a) "

Q(oﬁf-e:‘ L0-2) =l 0"
'x) =% =\
VO
L(\‘>: \(‘(’D)
- VA X
Howmeworle 10

_ - ¥
0> —*

B I~ *
o~ /xg*zy’zxg




\-x>=0O
| ~x*= 0O
= |
w=%|
—
\ - WX
XZ
ol o
£Q0) \ o
= \“e‘;\’ € max
fle) B>=%
£(3) " In2
3



‘5> 'Q(\O: (p()('3>2~( / et
\n (x-3) -\ v =4 L)

condinuons ~ (NO cloved., Lowrdsd: v

N W WDl lim £ | (4 ~3)"\D
XM ¢U'\/‘ X‘b\{t - \n"(‘b
- ~ D



